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SOCIOLOGY

[HONOURS]
Paper : VIII

Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any six of the following questions:
2x6=12

fesfeiie enfefer T @i wxfba Ted vie ¢

1)  What do you mean by 'evolution'?
TS 09 F (@I 2

i)  What is 'field'?

“re e
1i1)  What is animism?
Sppifefsrers SICE 90 2
1v)  Define 'tribe'.
Torerifesn’ scesl wie |

[Turn Over]

v)  What is meant by 'neo-local residence'?

V- ETIFIET ATZE FEA00 I QRN 2
vi)  What is clan?
NG (1) FICP e 2
vii) What is 'moiety'?
‘RS FieE e 2
viil) Name any two tribes of West Bengal.

ARG @I 7o Torenfed w1 1 |

ix) What do you mean by 'witchcraft'?

o

TR 910 [ @RI?

x)  What is the meaning of the term, 'anthropos'?

AT *A o7 o Fi 2

2. Answer any four of the following questions:

8§x4=32
fefaiie emefes St @-@E vrafoe Ted wie ¢

1)  Write a short note on Franz Boas' method of

'historical particularism'.

g @EP-ad ‘afszif fftgerm (oo
Afbperifae) @ @3 7=Fre Bl &l |

i)  Describe Bronislaw Malinowski's methodology.

3fm W cmfowe <@ |
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iii)

Vi)

vii)

viii)
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Discuss the relationship between mother's

brother and sister's son.

-9 ©f3 I @I (2T N T9E D
|

Discuss the issue of incest with suitable

examples.

THYS 1B SEIBICE 12T SCeTbeTl Sl |

Give an account of major features of social

differentiation in a simple society.

HIE ANCGT ANEGS ALF AT (T
fCwricafRm=) g4 el «faoz wie |

Explain the division of labour in primitive

economies.
wiifes (fafsifoe) SidRifeomrag w=-Reiem i e |

What is politics without state?— Explain with

examples.

AR AT FIF A0 2— B2 IR A0 |

What are the major problems of the Indian
tribes?

ISR TG S-TZH el TPl F 2
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Answer any four of the following questions:

14x4=56

fasfafiie exiaflem ey @-@IE vafee Tea nie ¢

3.
i)
ii)
iii)
v)
v)
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Discuss in detail Radcliffe-Brown's 'structural-

functionalism'. 14

FCFF-ACET FON-FHAW (FIFHIATA-
TS ) ToIF [Keifae s St |

What is kinship terminology? Discuss various

kinship terminologies with examples. 2+12

Taf#tol SIS i A0 2 Sl sa@ice [y

fefeiel BifsfcaeTier St e |
Give an account of the major features of
primitive law. What is 'blood feud'? 12+2

IS FANCET e 24l @Rl «fwea nie |

‘I RFSW” FHCE A0 2

Discuss the various types of primitive religion.

What is meant by the 'rites of passage'? 12+2

wifws eata iy edRfe S S | FR6A o
TS e T FIF 2

Describe in detail 'Kula' as a custom of gift

exchange. 14

Toa R &Ll 2 ot em <<=l e |
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Vi)

vii)

viii)
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What is meant by 'age-set'? Describe with
examples the types of marriage prevalent in

primitive societies. 2+12

‘GG-(I6° BT A6 2 TwinAeTs i (fafsoe)
Meelce evfere [RiEa aqaefe s @l

Discuss various tribal movements in India.
14

OO SHTIRS SIS T4 F o=l Tl |

Explain the changing relationship between the
tribal people and nature-with special reference
to India. 14

GPhos M0 TP TS 1T FAl |




